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An improper fraction has a larger numerator than the denominator (4/3).  A 

mixed number is a number with a whole and a fraction (11/3).  Once you have 

the mixed numbers change to an improper fraction and reduce to lowest terms. 

 
 
 

32/3 + 21/3  =   42/5 - 31/5  = 

    change to improper fraction                         now reduce     Lowest Terms 

 

11 +  7  =  18     6 ___ - ___   =        = 

  3   3      3 
      

 

 

72/7 - 31/7  = 51/2 + 41/2  = 

                               change to improper fraction    Lowest Terms 

 

___ + ___  =        = ___ - ___   =        = 

 

 

 

 

64/8 + 22/8  = 95/6 - 53/6  = 
                               change to improper fraction    Lowest Terms 
 
___ + ___  =        = ___ - ___   =        = 
 
 
 
 
12/3 - 11/3  = 43/4 + 32/4  =   
                               change to improper fraction    Lowest Terms 
 
___ + ___  =        = ___ - ___   =        = 


